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2.8 > — 1 — 7 — — 4 > - - - 06 > Cs,C
A knot dlagranﬂ 8 P 3 o 1 e 7 P 9 o 4 s 10C4 50121206 6 o 11> €5, C10

Ideals for irreducible component#ﬂ)f Xpar

I = w4 u*? 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 53 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u?4+u2+..- —u—1)

(i) Arc colorings

= (3)

ag —
az =
ayp =

a7 = (
—u3
a9 = \ —ud+u
—ud +ub —ut+1
—u® 4+ 2ub — 2ut + 202
—u® 4+ 2u” — 3ud +2ud —u
—uM 4+ —2u" b —
u28—5u26—|—~-~+u2+1
w30 — 4u28 o 2y g2
w20 — 308 + Tl — 100 + 1062 — TulO + ud + 208 — 3ut + w2 + 1
w20 — 4418 + 10u!® — 18w + 23u!? — 24419 + 18u® — 10w® + 3u?
(—u39 +6ud” + - 4 8u’ — 2u3>

ag = \ —u? + 7+ —3u® +u
ul” — 8ut® + - — 10U’ + 4u?
ann =\ -7t 4 20"
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u5? — 36u*" + - -+ — 8u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,C8 W+ 17+ —u 1

Ca, C7 uP utt e —u—1
3 P — w4 13u— 1

C4,C5,Co Wb —u—1

€10, C11
€9 u® + Tu? 4 -+ - 4 293u + 295
C12 w4+ 5u% - — 417w — 99




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,cs Y 4397+ 419y — 1
ca, C7 Y 1Ty ey — 1
C3 y53+3y52++47y_1
C4,Cs5, Co y53769y52+7y—1
€10, C11
Co y°? +23y°% + .- — 620381y — 87025
Cra Y™ — 13y + -+ 4+ 120231y — 9801




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

= —0.917964 + 0.3964581

11.02350 — 1.176501

3.47656 — 1.298291

—0.917964 — 0.3964581

11.02350 + 1.176501

3.47656 + 1.298291

1.004410 + 0.1201491

—3.30847 — 2.929681

—6.10401 + 5.986461

= 1.004410 — 0.1201491

—3.30847 + 2.929681

—6.10401 — 5.986461

—0.965969 + 0.0584771

—2.10934 4 0.194041

—2.74556 + 1.384901

—0.965969 — 0.0584771

—2.10934 — 0.194041

—2.74556 — 1.384901

—1.026680 + 0.1543871

0.16153 + 5.664631

0.36927 — 7.134821

glg|glg|e|e|g|
|

—1.026680 — 0.1543871

0.16153 — 5.664631

0.36927 4 7.134821

u= 1.03975

5.77807

—1.63810

0.808317 + 0.4971731

1.80074 + 0.199407

3.10423 — 0.792041

0.808317 — 0.4971731

1.80074 — 0.199401

3.10423 + 0.792041

1.045770 + 0.1711261

9.64765 — 7.139251

1.62928 + 5.466001

1.045770 — 0.1711261

9.64765 + 7.139251

1.62928 — 5.466001

= —0.711976 + 0.7886911

277377 — 2.549831

2.56238 + 3.840901

= —0.711976 — 0.7886911

2.77377 + 2.549831

2.56238 — 3.840901

0.741129 + 0.7661841

3.37856 — 0.518331

4.74330 + 3.741581

0.741129 — 0.7661841

3.37856 + 0.518331

4.74330 — 3.741581

= —0.898334 + 0.5858271

—0.89223 + 2.273001

—4.11058 — 2.348621

= —0.898334 — 0.5858271

—0.89223 — 2.273001

—4.11058 + 2.348621

0.706508 + 0.8126361

6.62164 + 5.354101

7.68244 — 4.256761

0.706508 — 0.8126361

6.62164 — 5.354101

7.68244 + 4.256761

—0.703816 + 0.8275571

16.3321 — 6.904471

8.55087 + 2.771921

—0.703816 — 0.8275571

16.3321 + 6.904471

8.55087 — 2.771921

= —0.780598 + 0.7889301

7.91993 + 2.452681

9.54638 — 3.478831

—0.780598 — 0.7889301

7.91993 — 2.452681

9.54638 + 3.478831

0.941389 + 0.627556.1

1.18896 — 4.900021

2.00262 + 7.530561

0.941389 — 0.6275561

1.18896 + 4.900021

2.00262 — 7.530561

0.792770 + 0.8080361

17.9061 — 3.42331

9.92605 + 2.630451

0.792770 — 0.8080361

17.9061 + 3.42331

9.92605 — 2.630451

gl (g2 |e|e|g|g|g]
I

—0.567997 4 0.6190871

10.69110 — 0.817151

5.56596 — 0.121721




Solutions to I} V—1(vol + /=1CS) Cusp shape
u = —0.567997 — 0.6190871 10.69110 + 0.817151 5.56596 4 0.121721
u = —0.984073 + 0.6364871 9.59431 4 5.770951 0. — 5.492891
u = —0.984073 — 0.6364871 9.59431 — 5.770951 0.+ 5.492891
u = —0.952798 + 0.7402891 7.39031 + 3.310631 0
u = —0.952798 — 0.7402891 7.39031 — 3.310631 0
uw= 0.974166 + 0.7138101 2.66592 — 5.098091 0
u= 0.974166 — 0.7138107 2.66592 4 5.098091 0
uw=0.952090 + 0.7590431 17.4152 — 2.45571 0
uw=0.952090 — 0.7590431 17.4152 + 2.45571 0
u = —0.994703 + 0.7188541 1.91508 + 8.244311 0
u = —0.994703 — 0.7188541 1.91508 — 8.244311 0
U 1.005020 + 0.7283411 5.71195 — 11.145001 0
u = 1.005020 — 0.7283411 5.71195 4 11.145001 0
u = 0.654395 + 0.3694011 1.81787 + 0.236501 4.15811 4 0.088261
u= 0.654395 — 0.3694017 1.81787 — 0.236501 4.15811 — 0.088261
u = —1.011890 + 0.7343341 15.3906 + 12.75641 0
u = —1.011890 — 0.7343341 15.3906 — 12.75641 0
u = —0.124769 + 0.6400441 13.4136 + 4.60171 8.93924 — 3.3011471

= —0.124769 — 0.6400441

IS

13.4136 — 4.60171

8.93924 +- 3.3011471

0.124451 + 0.5895841

3.80539 — 3.349661

8.46314 4 5.011241

0.124451 — 0.5895841

3.80539 + 3.349661

8.46314 — 5.0112471

0.171113 + 1.0879401

2.68023 — 5.977111

U
U
u = —0.128727 4 0.4661321
u = —0.128727 — 0.4661321

0.171113 — 1.0879401

2.68023 4 5.977111




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cs U53+17U52+"'*U+1
C2,C7 U53+U52+"‘7U71
€3 P =P 4+ 13u— 1
C4,C5,Cq u53+u52_~_”._u_1
€10, €11
Co uP? + TuP? + - -+ 293u 4 295
c12 w4+ 5u? + - — 417u — 99




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1,cs y*3 439972+ + 19y — 1

Co,C7 y53717y52+~'*y*1
c3 y55+3y52++47y71

C4,Cs,Ce y53_69y52+_y_1

€10, C11
Co Yo% + 23y°% + ... — 620381y — 87025
C1o y®3 — 13y°% + - 4 120231y — 9801




